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@) 49 ol AX ™ cos 4 0] G AT
® 49 gtol A sina o g AR,
@ sinA ] AL 1, A% 00leh,

® tan90°] 7k HE % e,

(A 0] 3717} AZSE sinA, tanA 9] S

ZolAle,

AR cos A Q] Fh2




13. thg E2 ol§ a4 o 9 Pol S Tateler,

Ar--

a3 sin x cos T tan z

43° 0.6820 0.7314 0.9325

44° 0.6947 0.7193 0.9657

45° 0.7071 0.7071 1.0000

46° 0.7193 0.6947 1.0355

47° 0.7314 0.6821 1.0724

| 2
> ®eh: 14.142

0.
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LA = 45° o] 1, sin 45° = 2“—0 O|B 2 g = 20 x sin45° = 14.142
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24x = 48

Sox=2

kA 2 ZH4E7Ee ABH oA
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33. o2 AHZH 5 B3 c0s25° +sin25° xsin50° — tan 50° & 4
2ot B A27NA TR

e sin cos tan

25° 0.42 0.90 0,46
50° 0.76 0.64 1.19
70° 0.93 0.34 2,74

@® 0.06 @ 0.05 ® 0.04 @0.03 ® 0.02

S5 \
c0s 25 ° + sin 25 ° X sin 50 ° — tan 50 °

=0.90 + 0.42 x 0.76 — 1.19

= 0.90 + 0.3192 - 1.19

= 0.0292

= 0.03
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(i) BCE A, AAGF = FZH4Zgoln g
AG =AF +FG°
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